
JOB: DRAWING:

PAINT COLOR:

SALESMAN:

TOLERANCES (U.N.O.):

DIMENSIONS: ±1/8"

ANGLES: ± 0.2°

P
A

G
E

1
 O

F
 9

HOIST ZONE 
SALESMAN

HOIST ZONE CUSTOMER
SAMPLE APPROVAL DRAWING

QUOTE

JIB ASSEMBLY
QUOTE-JC-AS01

YELLOW, SAFETY

Y
:\E

n
g
in

e
e
rin

g
\0

9
 E

n
g

in
e

e
rin

g
 S

ta
ff\J

o
h

n
a

th
a
n

 M
c
G

u
rn

\S
a

m
p
le

 H
o
is

t Z
o

n
e

 A
p

p
ro

v
a

ls
\U

ltra
L

ite
 B

a
s
e

 P
la

te
 M

o
u

n
te

d
 J

ib
 C

ra
n

e
\F

re
e
 S

ta
n

d
in

g
 J

ib
 C

ra
n
e

 w
ith

 B
a

s
e
 P

la
te

 - S
tru

c
tu

re
d
.d

w
g

     L
a

s
t S

a
v
e
d

: 0
3
-0

6
-2

0
2
5

 @
 1

1
:4

9
:2

5
   J

O
H

N
 M

C
G

U
R

N
   {S

a
m

p
le

 H
o
is

t Z
o

n
e

 A
p

p
ro

v
a
ls

}

Qty. (1) Base Plate Mounted Jib Crane
Capacity:  1/2 Ton
Height Under Boom: 8'-6 1/2"
Span: 15'

 

SIGN ABOVE FOR APPROVAL DATE

SUBMITTAL REVIEW
 

CUSTOMER IS RESPONSIBLE TO VERIFY ALL DIMENSIONS.

SIGNED APPROVAL AUTHORIZES PWI TO PROCEED WITH 

SHOP FABRICATION AND INSTALLATION. 

SHIPS WEEK OF ______ IF APPROVED BY ______

 
                                   

183 [15'-3"] SPAN

195 5/16 [16'-3 5/16"]

16 3/4"
10 3/16"

42"

12 5/16"

7 7/8"

n36"

1
2
2

 3
/1

6
 [

1
0

'-
2

 3
/1

6
"]



SHIPPING LIST

FINISHNET WT.UNIT WT.LENGTHDESCRIPTIONPART NO.QTYITEM

YELLOW, SAFETY345.69345.69 BEAM WELDMENTQUOTE-JC-WD0311

YELLOW, SAFETY12.2712.27 CHANNEL WELDMENTQUOTE-JC-WD0412

YELLOW, SAFETY199.33199.33 JIB ARMQUOTE-JC-WD0213

YELLOW, SAFETY654.9654.90 JIB COLUMNQUOTE-JC-WD0114

YELLOW, SAFETY54.754.70 BOTTOM ROLLER ASSEMBLYQUOTE-JC-AS0315

PURCHASED5.025.02163 1/2 inSTARKE FESTOON KIT-16

UNFINISHED1.131.132 inBLOCK STOPQUOTE-JC-PL1217

 0.490.495 3/4 inSHIMQUOTE-JC-PL1318

 59.917.49  Anchor Bolt Type 0289

BLACK PDC11.622.906 in6 X 4 END STOPPL1019410

BLACK PAINT4.661.5516 inFESTOON BRACKET - 16 INSET-90077311

PURCHASED1.20.40 SINGLE BOLT STANDARD HANGERS100-SH312

ZINC-PLATED0.020.011 1/4 in3/8"-16 HEX BOLT (GR. 5)-313

YELLOW ZINC0.010.00 3/8"-16 NYLON LOCKING NUT (GR. 8)-314

BLACK OXIDE0.070.021 1/2 in1/2"-13 STRUCTURAL BOLT (A325)-415

BLACK OXIDE0.030.01 1/2"-13 HEAVY HEX NUT (A563)-416

YELLOW ZINC0.150.042 1/4 in5/8"-11 HEX BOLT (GR. 8)-417

BLACK OXIDE0.260.031 3/4 in5/8"-11 STRUCTURAL BOLT (A325)-818

BLACK OXIDE0.120.01 5/8"-11 HEAVY HEX NUT (A563)-819

YELLOW ZINC0.050.01 5/8"-11 NYLON LOCKING NUT (GR. 8)-420

BLACK OXIDE0.110.052 in3/4"-10 STRUCTURAL BOLT (A325)-221

PURCHASED00.00 1/4" STANDARD - STRAIGHT GREASE ZERK-122

UNFINISHED1.191.19 ROLLER BEARING26878-26823123

1352.92TOTAL WT.#

JOB: DRAWING:

PAINT COLOR:

SALESMAN:

TOLERANCES (U.N.O.):

DIMENSIONS: ±1/8"

ANGLES: ± 0.2°

P
A

G
E

2
 O

F
 9

HOIST ZONE 
SALESMAN

HOIST ZONE CUSTOMER
SAMPLE APPROVAL DRAWING

QUOTE

JIB ASSEMBLY
QUOTE-JC-AS01

YELLOW, SAFETY

Y
:\E

n
g
in

e
e
rin

g
\0

9
 E

n
g

in
e

e
rin

g
 S

ta
ff\J

o
h

n
a

th
a
n

 M
c
G

u
rn

\S
a

m
p
le

 H
o
is

t Z
o

n
e

 A
p

p
ro

v
a

ls
\U

ltra
L

ite
 B

a
s
e

 P
la

te
 M

o
u

n
te

d
 J

ib
 C

ra
n

e
\F

re
e
 S

ta
n

d
in

g
 J

ib
 C

ra
n
e

 w
ith

 B
a

s
e
 P

la
te

 - S
tru

c
tu

re
d
.d

w
g

     L
a

s
t S

a
v
e
d

: 0
3
-0

6
-2

0
2
5

 @
 1

1
:4

9
:2

5
   J

O
H

N
 M

C
G

U
R

N
   {S

a
m

p
le

 H
o
is

t Z
o

n
e

 A
p

p
ro

v
a
ls

}

Qty. (1) Base Plate Mounted Jib Crane
Capacity:  1/2 Ton
Height Under Boom: 8'-6 1/2"
Span: 15'

 


